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public interface InnerClass {
public String getName() ;
public int getAge();

public class OutClass {
public InnerClass getInnerClass(final int age,final String name){
return new InnerClass() {
int age_ ;
String name_;
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{
if(@ < age && age < 200){
age_ = age;
name_ = name;
}
}

public String getName() {
return name_;
}

public int getAge() {
return age ;
b

};
}

public static void main(String[] args) {
OutClass out = new OutClass();

InnerClass inner_1 = out.getInnerClass(201, "chenssy");
System.out.println(inner_1.getName());

InnerClass inner_2 = out.getInnerClass(23, "chenssy");
System.out.println(inner_2.getName());
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abstract class Car {
public abstract void drive();
}

class Test{
public static void main(String[] args) {
Car car = new Car(){//E&ZWHNAEE
public void drive(){
System.out.println("Driving another car!");
}
¥

car.drive();

}

ez - Driving another car!
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interface Vehicle {
public void drive();

}

class Test{
public static void main(String[] args) {
Vehicle v = new Vehicle(){
public void drive(){
System.out.println("Driving a car!");
}

}s

v.drive();
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abstract class Bar{
void doStuff(Foo f){}
}

class BarOne extends Bar{
void doStuff(Foo f){}

}

interface Foo{
void foo();
}

class Test{
static void go(){
Bar b = new BarOne();
b.doStuff(new Foo(){
public void foo(){
System.out.println("foofy");
}

s
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public class Demo {
public static void main(String[] args) {
Thread t = new Thread() {
public void run() {
for (int i = 1; i <= 5; i++) {
System.out.print(i + " ");
}

}
}s
t.start();

Runnable EZOHEZRISESEECIN :

public class Demo {
public static void main(String[] args) {
Runnable r = new Runnable() {
public void run() {
for (int i = 1; i <= 5; i++) {
System.out.print(i + " ");
}

}
}
Thread t = new Thread(r);
t.start();



